XFER

X,y DROMEE ZIZ.2, —3x+2y DEZRD LR SV,

O x=2,y=4 @ x=-6,y=-3

X,y BROMEE 223K bxy DIEZ KD % SV,

© x=2,y=3 @ x=-3,y=6

a,b BIROMEE X123 —3ab DfEZ KD 72 T\,

® a=2,b=-5 @ a=-3,b=-4
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XFER

X,y DROMEE ZIZ.2, —3x+2y DEZRD LR SV,

O x=2,y=4 @ x=-6,y=-3
—3x+2y —3x+2y
= -3x2+2x4 =-3x(=6)+2x(-3)
=—6+8 =18-6
=9 =12

X,y BROMEE 223K bxy DIEZ KD % SV,

O x=2,y=3 @ x=-3,y=6
5xy oxy

=5X2X3 =5x(—3) X6
=30 = —90

a,b BIROMEE X123 —3ab DfEZ KD 72 T\,

® a=2,b=-5 @ a=-3,b=-4
— 3ab —3ab
= -3x2x(-5) ==3x(=3)x(-4)
=30 = —36
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